oS A4 FolA AR e A7 #x2 Aol ofd A
nE= Jg2m9

D)o © @ O © ©) [BRG)

@ o1 e ® @t o

O © : WHe] do|7t 5 2 Zal, tfzte] 3717} 30° ,60° 2
5|t}
O @ : 8o Zo|7t 5 2 231, Yy Z] ¢ iy o] Zol7} 3
o7 Zromz RHS g5olt}
@1 @ : W&z 27171 40° , 90° 2 ZaL gt Wi o] Ho|rt
4 2 7Zonz ASA FHsolt)




® /OEB = /OEC
@ /OBE = /OCE
@) 0B = FoC

/DOB = /DOA ©]1 /FOC = /FOA o]t}




ABC ©]lA]

/ACB = 36° & 1] ZAMB 9] 7]

O

g

~H
N
NI
ol
NI
;llul
iyl

T

oln

?

L)
1

36

@ 64° ® 68° @ (@)72°

O 62°

)
,_._mo

kA ABMC & o5 ¥4tz
(MCB = /MBC = 36°
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AADB = ACDB (RHS3H) |22 AD = CD ©|t}.
AADB, ACDB7} 2 Zto]-sHAtZtgo|Be

BD = AD = GD = 5 (cm) o2& y = 100]c}.




11. o5 237 22 2AEE ABCD °IA BE = DE, /BDE = <CDE
Ao, 2x & 27]=0

A D

@ 45° @ 50° ® 55° @60° ® 65°

B ~
(BDE = za 21l 5} /BDE = /CDE = za ©]11, /x = 2¢a
ACDE ©] z+9] g5 o]-8-3t7
180° = /CDE + /DEC + /ECD

= la+2/a +90°
= 3Za +90°
o La = 30°
W /x =2/a °|BE
S Lx = 60°




12. o} A ZH42HE ABC o4 AD = CD, AB = 6¢m ©]al, ZACB = 30°

@ 4cm @ 6cm ® 8cm @ 10cm (@)120m

~&B )

o

//A 30
60/“%3%{;\7\
B‘ 60° 607 30 C

~6cm-"D>6cm-~

ADCA ©f|A] o] 5HAZYo|H & ¥zt 37|71 Zoeng
(/DCA = /DAC = 30° o]t}

/ADB = 60°, /DAB = 60°, Z/ABD = 60° ©|22 AABD =
x—l/d—ﬂ-oio]q-

w2}A AB = BD = AD = 6cm ©]2& DC = 6cm ©]ch. mhat
A x =12cm ©]|t}.




FolE AAUS W, 2x o A7|E=?

13. the g3t 2o HA7g mopel

A C_____
56 4
E B~ T7C i
@ 62° B 64° @ 66° (368 °

O 60°

/ABE = 180° - (56° x 2) = 68°
/ABE = /BAC = /x = 68° (31Z})




14. & 139 AABC = AC = BC ¢ FZo| 5

B Arzbed o]t Hl¥ AB $]o] AC = AD 7} 5
AHDE I, ADE AU AB o 522l
2417} BC 9to] wH& F g & of, BC = 6em
oltt. ABDE 2] Ho]=?

@ 12cm? @ 14cm? ® 16cm?
C(‘Ql&:m2 ® 20cm?

~&B

E 6cm”

6x6

. ABDE = 18(cm?)




15. o2 1A H I+ AABC 9 WAeoltt. /BIC = 120°¥ o,
/BAI = ( )°el A7|€ stodet

A

120°

o

\VARR 4
0x
i

30

a L ~
A 17F AABC O YA 1, /BIC = 90° + %zAOIE’r.

A 17 Al W8] o] 5249 mgolua=z

/BIC =120°=90° + %zA,

/A =/BAC=60°

. /BAI = %ABAC = % X 60°=30°




ABC 9| 141*‘01 A, A D, E, F & FHolth

16. tt
w o017} 2em € W], AABC 9] Hol+=?

o)
\-_1>~1
ru\‘ rlr
e >

@ 22cm? @ 23cm? 3®)24cm?

@ 25cm?2 ® 26cm?

AF=AD=AB-BD=AB-BE=9-5=4(cm) 9|22
AC=AF +CF =4+ 3 = 7(cm) ©|t}.

a2kA AABC = % X2X (9+8+7) = 24(cm?) o|t}.




17. o 2o ¥ AB 7€ 0 & AE0]1 9 0 = AABC 9 &34,
DI = HEYolth = 0, 19 w259 do|7t 242} 5em, 2cm
ol A D, E, F = ZHY uf, AABC 9] Hol]&=?

@ 10cm? @ 15cm? @ 20cm?

HIHH AB 9] F3 o] e]4lo]BEE AABC & AZH417H%
AD = AF = acm =} 5Hd
BD = BE = (10 — a)cm ©]t}.
oA

ol
-9,
&

AABC =

tnl
X
/:;
o

+A0)

x(104+10-a+2+a+2)

l\DIH l\')l»—t L\Dlr—l

X 2 x 24 = 24(cm?)o|t}.




18. & AABCOA AB = AC, CB =CD, /A =40°d o}, /x 2] 37]

=9

® 20° @ 25° @30° @ 35° ® 40°

B

AABC | A

1
(ABC = /ACB = 5(180O —40°) =170°

ACDB ©J|A]
/BCD = 180° - (2% 70°) = 40°
whabA] zx = 70° —40° = 30°°]t}.




19.

N
~

g = 4| zko] 5147
Foltt. F A B, ColM A A E Av=
24 1o W e we 27 D, E o
&tzt. AB=10,DE =2 ¢ o], BD- CE
o] gk
@2 @25 O3 @ 35

AABD = ACAE (RHA &5F)clB=2
BD = AE, CE = AD
~BD-CE=AE-AD =2




20. thg TolA Aol 47k ABC 9 DBC = /A — /D = 90° <]
Zhapzkolet. AB o] A4} D o Aol Tk A8 E g

5l AB = CD , /ACB = 34° & o}, (E ©] 37|& slolg},

E

ﬁ\
A

Q

vV Vv
0x
i

68 °

~&B ~

AABC T} ADCB |4 /A = /D = 90°,

BC = 3%4H¥, AB=CD °|2&

AABC = ADCB (RHS &%)

/ABC = 90° — 34° = 56°, /DBC = /ACB = 34°
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